

$$\lim_{x \rightarrow \frac{1}{\sqrt{2}}} \frac{2x - 5}{x^2 + ax + b} = -\infty \quad \left\{ \begin{array}{l} \lim_{x \rightarrow \frac{1}{\sqrt{2}}^+} \frac{-1}{f(x)+b} = -\infty \rightarrow x^2 + ax + b = 0^+ \\ \lim_{x \rightarrow \frac{1}{\sqrt{2}}^-} \frac{-1}{f(x)+b} = -\infty \rightarrow x^2 + ax + b = 0^+ \end{array} \right. \rightarrow (x - \frac{1}{\sqrt{2}})^2 = x^2 - \frac{2}{\sqrt{2}}x + \frac{1}{2} = x^2 + ax + b$$

$$\rightarrow a = -\frac{2}{\sqrt{2}}, b = \frac{1}{2} \Rightarrow a + b = -\frac{2}{\sqrt{2}} + \frac{1}{2} = 0$$

(۱)

$$\lim_{x \rightarrow \frac{1}{\sqrt{2}}} \frac{x}{x^2 + ax + b} = +\infty \quad \left\{ \begin{array}{l} \frac{\frac{1}{\sqrt{2}}}{0^+} = +\infty \\ \frac{\frac{1}{\sqrt{2}}}{0^+} = +\infty \end{array} \right. \Rightarrow \text{عبارت: } (x - \frac{1}{\sqrt{2}})^2 = x^2 - \frac{2}{\sqrt{2}}x + \frac{1}{2} = x^2 + ax + b$$

$$\rightarrow a = -\frac{2}{\sqrt{2}}, b = \frac{1}{2}$$

$$\rightarrow \left[\frac{b}{a} \right] \cdot \left[\frac{\frac{1}{\sqrt{2}}}{\frac{1}{\sqrt{2}}} \right] = \left[-\frac{1}{2} \right] \cdot \left[\frac{1}{1} \right] = -1$$

(۲)

$$\lim_{x \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{[-x] + a}{\left| \frac{\sqrt{x}}{x} \right| + a} = -\infty \Rightarrow \lim_{x \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{[-\frac{\sqrt{x}}{x}] + a}{\left| \frac{1}{\sqrt{x}} \right| + a} = -\infty \Rightarrow \lim_{x \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{-1 + a}{\frac{1}{\sqrt{x}} + a} = -\infty$$

(۳)

$$\lim_{x \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{14x - \left[\frac{-x}{x^2} \right]}{14x + \left[\frac{x}{x^2} \right]} = \frac{(-1)^+ - [(-1)^-]}{(-14)^+ + [14^+]} = \frac{(-1)^+ - (-9)}{(-14)^+ + 14} = \frac{1}{0^+} = +\infty$$

(۴)

$$\begin{aligned} * x > \frac{1}{\sqrt{2}} &\rightarrow 14x > -1 \\ * x > \frac{1}{\sqrt{2}} &\rightarrow x^2 < \frac{1}{x} \rightarrow \frac{x^2}{x^2} > 1 \rightarrow \frac{-x}{x^2} < -1 \\ * x > \frac{1}{\sqrt{2}} &\rightarrow 14x > -14 \\ * x > \frac{1}{\sqrt{2}} &\rightarrow x^2 < \frac{1}{x} \rightarrow \frac{x^2}{x^2} > 14 \end{aligned}$$

$$\lim_{x \rightarrow \frac{1}{\sqrt{2}}} \frac{x^2 - f}{x^2 - [x^2]} = \lim_{x \rightarrow \frac{1}{\sqrt{2}}} \frac{x^2 - f}{x^2 - 1} = \lim_{x \rightarrow \frac{1}{\sqrt{2}}} \frac{(x - \frac{1}{\sqrt{2}})(x + \frac{1}{\sqrt{2}})}{(x - 1)(x + 1)} = \frac{f}{f + f + f} = \frac{f}{14} = \left(\frac{1}{14} \right)$$

(۵)

$$\lim_{x \rightarrow -1} \frac{x^2 + 10x + 14}{14 + 4\sqrt{x}} = \frac{9 - 10 + 14}{14 - 14} = \frac{0}{0} \xrightarrow{\text{لیم}} \lim_{x \rightarrow -1} \frac{x^2 + 10x + 14}{14 + 4\sqrt{x}} = \frac{(x+1)(x+7)}{4(1+\sqrt{x})} \times \frac{(1+\sqrt{x^2} - \sqrt{x^2})}{(1+\sqrt{x^2} - \sqrt{x^2})}$$

$$= \frac{(x+1)(x+7)(1+\sqrt{x^2} - \sqrt{x^2})}{4(1+\sqrt{x})} = \frac{(x+7)(1+\sqrt{x^2} - \sqrt{x^2})}{4} = \frac{(-4)(1+1+1)}{4} = \frac{-12}{4} = -3$$

(۶)

$$\lim_{x \rightarrow 0} \frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1-\cos x}} = \frac{\sqrt{1}-\sqrt{1}}{\sqrt{1-1}} = \frac{0}{0} \xrightarrow{\text{لیم}} \lim_{x \rightarrow 0} \frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1-\cos x}} \times \frac{\sqrt{1+x} + \sqrt{1-x}}{\sqrt{1+x} + \sqrt{1-x}} = \frac{(1+x) - (1-x)}{\sqrt{1-\cos x} (\sqrt{1+x} + \sqrt{1-x})} = \frac{2x}{\sqrt{1-\cos x} (\sqrt{1+x} + \sqrt{1-x})}$$

$$= \frac{\frac{x^2}{x\sqrt{x}}}{\frac{x}{\sqrt{x}} (\sqrt{1+x} + \sqrt{1-x})} = \frac{\sqrt{x}}{\sqrt{x} (\sqrt{1+x} + \sqrt{1-x})} = \frac{1}{\sqrt{1+x} + \sqrt{1-x}} = \frac{1}{2}$$

(۷)